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0000000000000,00000,0000000000000300,5
0000000,0000000,00 p,00 »,00 p,0000000 Y06
00000000.00000,0000000000000000. 00000
00000000000000000 (00000)0000,00000000
00002000000000000000000000000000,0000
0000000000 S50000000.0000,0000000000000
0o0oo0ooo.

4.1 0O0OO0OOOO

gobbobbbuooogobbbbbuoooooobbobbbouooad
ooot

4.1.1 0000
gooddooo,goooobobboboooooooooo:
p = pRT. (4.1)

000 (41)00000000000000000. 00000 nkmolODODOO
oboooobooon

PV =nR*T (4.2)

000.000,R* 00000 (R =8314x 10*3JK 'kmol™) 00 0. O
0 VOOODOOOOOOOOOOO0O00 mke, 000000000 MO
00, (4.2)0

m R*
P=——T 4.
V M (4.3)

00D0DO000000000000000,000000000 BoussinesqOOOOO0O0O0OO
goo.
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O00. p=m/VO0O0O0O0O,41)0 43) 000000

R
R=— 4.4
i (4.4)

gbobobobooboobgon.

e J0OOOOO(MDODO 28)75.5%, 00 (000 32)231%, 0000
(000 40)1.3%00000000%2 000000 M =28x 0.755 + 32 x
0.231 +40x 0.013=28.96. 00000 R= R*/28.96 =287.1JK1kg™! [
go.

good

1. ogob,odbboogbbooo,bgobboogbbooobbd
OooooobD rROOODODO.

4.1.2 Boussinesq [l [

000000000 p=f(p,7) 00000000 Tp, 00 py 0000 Taylor
0000,0001000000000

p=fp,T) = f(po,To)+ <%>T(p—po)+ (g—;)p(T—To)

= po+ <g—g)T(p—po) + (S—;)p(T—TO)

iR (@)oo () )

000 ooo, (@) —0,0000000,
po \Op/) 7
p = po[l =T -T)l, (4.5)
1 8,0)
= 1 (o) 4.6
“ Po <5T P (46)

000. (45 000000000000 BoussinesqUOOOOO, 00000,
gobobogobbuogobbuoodbbbooobbuooobb.ddd, ad

D008 kmO000000D0D0O0O0O0O0O0OOOOOOO.
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00000,0000000000000.30000000,000000000
oooo,

= pPo [1 — Oé(T — To) + 5(8 — So)] y (47)

1 [(0p
B = —H;<5;>ET (4.8)

O00000. O00,s000 (salinity) D00, sO0000,00 1kgODODO
oogoobooooooobogooob. 0O, U0, 00boobo,ob0boon
(coefficient of saline contraction) DO 00O .

4.2 OJO00O0OO0OOOOOO

Uboobobuoobobobduo,ub pbUdbo000.00,000000
ooobobgbopibooboboboooo.ooboo,oobobon
gboobobobobo

p=F(p) (4.9)

goboboog,bobboggobobodad

f(p, p)=0 (4.10)

gbboouogodgbbbog,bbbduoobbbooooboboda,bbbodod
0000000000000 000000000,00000000000. (4.9)
0000 (4100 000000000000000 (barotropic fluid) 00 0O. 00O
0(4.10)000000000000000000O000OO0OOOOODODOOOO
goodogoog. bboooobbboobb,obbbbbbbbbbbbod
gogoobbbbooobbbbobobotoodogoog. boboooouoooga
(baroclinic fluid) 000 00. 0000000000, 0000000000000
000000000, barotropic fluid0000O00000000OO0O0O (DOOO
0000000 (CO0O00)00),00, baroclinic00000000000ODODO.
gbobbooggobbooogbboboogobobuooon.

3(46)00000000000,00000000000,0000000000000000

DDDDDDDDDDDDDD.DDDD,(%) <0.000,000000000000000
p

obO,000000000000. pp00000D0OO0O0OC0ODOOOOOOODO.
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4.2.1 0O00OOOOO

D
oo0 Fi =00,0000000000000 (incompressible homogeneous
fAuid) 00

p = const. (4.11)

gbobo,0bob0o0buobobobo0obobo0od0. 00f Newton DODOO
gob,uogdooo

D
F:: — VP + vV + K, (4.12)

000,P=p/p000.000000000
V-v=0 (4.13)

gob.obobooog e, POO0ODLO0OOD200000000000000O0
gbboogbogbbuodbooob,obboobuoobbuoobbooboo
OO0, Navier-Stokes 0 D0 000000 0ODOODOOOODOODOODOODODOO.

4.2.2 O0O0OOOOOO

gbbogobbooobbo,obbuoobbuooobboodgb.bdao
OO00O0D0ODoOonO p,00 p,0000D00O SOODOODOO

_ P, S — S 414
p pgpeXp( Cy) (4.14)

0000.00000000000000,000000000000.00+40
oooo ¢, 00000 6,00 y=C,/C,000. 000000000000
000000000000 (S=S8)00, (4.14) 0

()

goo.

gooo

1. 00000000 dd =TdS—pd(p™!),0000000000 p=pRT,
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000 d4=C,dT 0000, (414)000000.

2. (4.15) O Poisson 000000000 . Poisson 100000000000
ooooooo,7T,p000000,

,
T\ 71
pﬂo - (To) (4.16)

ooooboobooobo.obg,T,0 p0ooboobob.

goboooggn

gobbobobbuooooooobbobbboooooobboobbouoood
oboobooobooboobbooboobbooboobbooboob
O0000000000000o0O0O0000oooog@4.15) 0 416)0oooo
000000000 0000000000 (polytropic exponent) 00 0000
0oo0oooooo (=¢6,/6,) 0000000000000000000(4.15) O
(4.16) 00 0000000000000 0O0O0O0OOOOOOOOOOOOOOO
gbboooogbbboooobbbdud yObooobbbuooobbbooo
gobbobbtboudoooogobboobboodoooogooboboobouooood
gbobbbuodb y=10000000000000O0000000OOO0O0O0
gobobooodtobyboOoooobo

4.3 OO

(416) 000000000
p®/T = const (4.17)

Oo0obOoooooooon,T,pp U0ODOO0ODDODOOODO0ODO0ODLOODOOD
O0000000,00000000, Ty, 000 (potential temperature) 000 O,
Oo0ooooooobooooon.

O0o00oooooboobobooboboobboo,b00D 2000000
p(2), 00 T(,) 0ODODODODODOO0O0O0O0O po 0000000 (OO pg = 1000hPa
000000),00000000000,00000000 To,0,00 z000
Oo0oooobooboooobo.og,bobobboobog eOObOoo. oOoO
0000000, 0000000 6(:) 000, 000000000000000O
Oo0ooooooobogoono.
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Oo0ooooooono sonoon
S = CyInf + const O (4.18)

goooogo.bgbobgbobgbgbgboboobobouooooooon
gpoooogoo.

gooo

1. (418) 00000000




